
Absolute Encoder
Kuebler 8.5888.532E.2123

 3
07

,5
 

 3
52

 

 457 

 1
48

 

 210 

 15° 

 3 x 120° 

 3
80

 

n° 6 M12 on Ø 270
for steering axle fixing

STEERING AXLE TWA-26

2600 kg

 Rubber
18x7-8

Induction motor
0.7 kW

24 - 48 V
2870 rpm

64 ppr

1/274

TECHNICAL DATA 

STEERING AXLE
Max load              

WHEEL
Material               
Size         

STEERING MOTOR
Type
Power                 
Battery voltage               
Speed                 
Speed sensor

STEERING 
Total ratio     

EXAMPLE OF CONFIGURATION

N Q.tà Cod. Descrizione
1 1 3747 Servosterzo assemblato 48v 700W
2 1 2658 PIGNONE GUIDA ELETTRICA  Z26 Ø28
3 1 gamba

4 1 Piastra porta 
ralla

5 2 Triangolo
6 1 albero
7 1 2964 CORONA DENTATA Z142
8 2 50054 Cuscinetto RC 55x90x23 32011 X
9 3 3938 MOZZO RUOTA
10 2 60X90X8 60X90X8
11 2 1563 GHIERA M35x1.5
12 2 50059 CUSCINETTO RC 50X80X20 32010X
13 2 cappellotto Ø 80 Cappellotto chiusura Ø 62 x 10 tipo CC NBR

14 1 PIASTRA 
FISSAGGIO PIASTRA FISSAGGIO ARMANNI

15 4 52201 VITE TCEI M8x40 UNI5931 DIN912 8.8 
ZINC

16 12 52251 VITE TCEI M6x20 UNI5931 8.8 ZINC OT 
PRECOTE-30

17 1 4257 ralla tv-302 evoluzione
18 1 3271 RONDELLA  PIGNONI STERZO
19 1 52409 VITE TSPEI M10X25 UNI 5933 10.9
20 2 3903 RUOTA 18X7X8 IN GOMMA NERA
21 2 52405 Vite TSEI M8x20 UNI5933 10.9
22 1 57015 Kuebler 8.5888.532E.2123
23 16 52016 Vite TE M8x30 UNI5739 DIN933 8.8 ZINC 

OT PRECOTE-30
24 12 53019 Grower Ø 14
25 12 52034 Vite TE M14x1.5 L30 UNI 5738 zincata

The descriptions and pictures of this datasheet are indicative. Tekno M.P.
may introduce improvements without affecting the caracteristics of the machine.

www.tekno-mp.com
info@tekno-mp.com


	Foglio1(2)
	Vista del disegno5
	Vista del disegno6
	Vista del disegno7


